TERM 1 WEIGHTED ASSESSMENT
2022

PRIMARY 6

MATHEMATICS
PAPER 2

Duration: 1 hour 30 minutes

INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

Write your answers in this booklet.

The use of an approved calculator is allowed.

SR~

Name: ( )

Class: Primary 6 ( )

Parent’s Signature: _ Booklet A /20
Booklet B /25
Paper 2 / 58
Total 100

Please sign and retum the examination paper the next day. Any queries
should be raiséd at the same time when retuming paper.




Questions 1 to 5 cany 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (10 marks)

7
1 Ji Eun had 6—2— m of cloth at first. She used SE m of the cloth io make

2
some shits. She then bought 4—5 m of cloth. How many metres of
cloth did she have in the end?

Ans: . m

11
2 The area of a rectangle is 1'2'3 m?.  What is the total area of 4 such

rectangles?




The price of a pair of sneakers is $190 before GST. What is the price
of the sneakers after adding 7% GST?

Ans: 3

The average cost of a calculator and a storybook is $36.  The storybook

1
costs 3 as much as the cafculator. What is the cost of the calcuiator?

Ans: $

At 9 am., a tap was tumed on to fifl an empty tank at a rate of 6 £ per
minute. At 8.05 a.m.. another tap was turned on to fill the same tank at
arate of 3 & per minute. At what time were there 75 { of water in the
tank?

Ans:




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackels[ ] at

the end of each question or part-question.

{45 marks)

6 . 48% of anumberis 312.
{a) Whatis the number?

{b) Whatis 86% of the number?

Ans:

(a)

(2

(b)

(1

7  The prices of masks sold in a pharmacy are shown in the table below.

First 50 masks $8.00
Next 50 masks $0.15 per mask
Additional masks above 100 masks | $0.10 per mask

Rose wanis to buy 135 masks. What is the least amount of money

she has to pay?

(3]




. 5

8 A rectangular tank with a square base is 7 —filled with water as shown

below. Find the volume of waterinthe tank.  Give your answerin litres

and milkilifres.

70cm )
19 cm
Ans: (3}

g Mr Tan had 8 kg of peanuts in a sack at first. He packed the peanuis

: 3
into bags. Each bag contained Py kg of peanuts.

-

3
(2) What was the greatest number of bags he could fill with 5 kg of

peanuts each?

{b) Find the mass of the peanuts left unpacked in the sack.

Ans: (a) 1}

{b) 2]




40  The bar graph below shows the number of visitors to a park from Monday
o Friday last week.
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(a) Whatwas the average number of visitors from Monday to Friday last

week?

(b} The average number of visitors on Saturday and Sunday was twice
the average number of visitors from Monday to Friday last week.
Write down one possible set of values for the number of vistors on
Saturday and Sunday.

Ans: (a} 1]

(b) {2




1

PQRS is a parallelogram. PTR and STQ are straight fines.
ZSPT.= 40°, ZPTQ = 125°.and ZSRQ =75°.

P Q
\> 4

125°,

(@) Find £PQT.

(b} Find £TQR.

Ans: (a)

(b)

[2]
(2]




12

At first, Tze Peng baked a total of 120 chocolate cupcakes and vanilla
cupcakes. The ratio of the number of chocolate cupcakes to the
number of vanilla cupcakes - was 1 : 3 atfirst. He then bought some
chocolate cupcakes. After that, 60% of the total cupcakes were
chocolate cupcakes.

(a) What was the ratio of the number of vanilla cupcakes to the number
of chocolate cupcakes in the end?

{b) How many chocolate cupcakes did Tze Peng buy?

Ans: (a) [1]

(b) (3]




13

. 3
In a library, 45% of the books are English books, 3 of the remaining

books are Ghinese books and the rest are Malay books. The difference
between the number of Chinese books and Malay books is 176. How
many English books are there in the library?

Ans: 4]




14

The original price of a washing machine was $1380. Iskandar bought

it at a 30% discount diring a sale.

{a) How much did Iskandar pay for the washing machine?

(b) He paid $76.80 fora hair dryer. The total discount for the washing
machine and the hair dryer was $465.20. Express the discount for
the hair dryer as a percentage of its original price.

Ans:  (a) ]

(b) &




15

1
Mrs Lim had some money atfirst. She spent 3 of it on a blouse and -:-5'

of the remaining money on a skirt.  After her husband gave her $484,

she then had the same amount of money as she had at first.

(@) How much money did she spend on the skirt?

(b} How much money did she have at first?

Ans: (a) i2]

{b) [2]

10



16  In the figure below, ABFG is a square and CDEF is a rectangle. BCF
and GFE are straight lines: CF is thrice as long as BC. Find the area
of triangle ACE. :

16 cm 9cm

Ans: 5]

1



17 The bar graph below shows the Co-Cumiculum Activities (CCA) the
students in Class 6B joined. Every student in Class 68 joined only one
CCA.
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{(a} Each student in Chess CCA pald $9 to buy a Chess CCA t-shirt.
The amount of money collected from the boys was $18 more than
the amount of money collected from the girls. What was the ratic
of the number of boys to the number of girls in Chess CCA? Give
your answer in the simplest form.

(b} The ratio of the number of students who joined Art CCA to the total
number of students who Joined Basketball CCA, Rabotics CCA and
Chair CCAwas 4: 5.  Drawand shaae the bar to show the number
of students who joined Robotics CCA.

Ans: (a) [31

End of Paper
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Quostisns 1 to S cany 2 marks oach.  Show your wixldng dearly and vrile
your enswers In the spaces provfded.  For questions »\hﬂ;hmqu:e wnits, glva
yotr 2nswers in the un?‘lssh!ai. (10 marks)

. 7 ]
1 JlEunbang mofdomatﬂrs!. s‘muswa-- s of ha oth o make

:-omo ..hlrts Sha !han bobght 4— 7 of clolh.  How many melres of
c:o!? g‘u:l She have Iy Ihe nd?

6‘2 5rm”'+5m 7'—" wlons)

2 The atea of a rectsngle Is 1;-—; mi What i3 Ihe total area of 4 such
rectenghes?

l 25w m 5—'1 m>(ans)

For quastions G Lo 17, shew your vorking clearly and wiiba yeur answers in the
spaces provided,  Tho number of msriks ovallebla Is shown inbrackets [ ot

the end of each question or part-quoston, {45 marks)
§  4B%ofanumboris 312, 4g°f —312-
5 313z
{a) Whatis he number? INE 73
(BY Vit is BE% uf tha ramibar? 100, — é'L" »1o0
o dans 1)

__é__éﬂy 650 _ p2.g Lans (b))
oo

e w050y
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¥ The prices of masks zold In o pharmacy &m shivm in tha teble below.

First 53 masks $8.00

Haoxt 50 maske - $0.15 per mask

Adcionat masks abovs 100 masks | 59,10 per mosk

Rose wants fo buy 135 masks, What ks the least amount of mancy
tho has 1o pay?
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3 Thepice of a palr of snakers Is $180 befote GST, Wizt Ia the price
of the sneakers afier adding 7% GST7 :

].Go't’a“f'-?p_/o = ]D?Z:
1.___"; ;aﬂso: £263-30 Cans)
1o

Ans S 2.05'.‘30

4 Thegverags cost of a caleulatorend & shorybook i3 535, The storyook

costs % os much ss the calcutsior, What ls tha cost of the catculilor?

Totd =5 3bu2
:72__

SE |y j
C — 3u G
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Ans: S&_-_____;

L3 A8 a.m., 2 tep was tumed on o il an emply tmk ot 3 rate of 6 L por
mimun,  AL9.05 sum, anolhar tap was luened on to fll tha same tank o
a¢ala of 3 {per minule. Al whal Ima were there 75 € of water i tha

tank?
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3 A reclanpulsr tank wili @ square baso lsg =&led with water 28 shown
below, Find the volume of weler in Cia dank.  Give o annverinfites

and mitlires.
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g Mr Tzn hnd 8 kg of peanuds In o gack pt st Ho packed e peoats
3
into bags. Each bag contained 7 kg of poontda

{2} What wes tha groatest number of bags ho could fit with % b of
peenuls gach?

{b) Find the mass of the poanuts el impacied in the sack,
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10 Thebargraph balow shows iho number of visitars toa park from Monday
fo Fridoy ket weok. i

200 £

Number

Mon  Tue Wed Thu

{a) Wirslva treaverage number of visitors from Monday to Frittay last
wook? .

{®) The avemgarumbor of visitors on Saturday snd Sunday wag wice P
e avernge number of visitees frone Monday 10 Friday fast wee
Wrila down ono possibie set of values for tha nimber of visilors on
Safuday aid Sundey.
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12 Allirst, Tze Peng baked a totad of 120 chocolale cup=okas and vanille
cupcakas,  Tha fafo of tha sumbor of chocolale cupsokes to tha
rumber of vanilla cupsakes was 123 al frsl. He then bought soma
chocolate cupcakes,  Aller that, 0% of ths iolal cupcshes wers
chocolate cupcakes.

{a) Whatwzsths ratioof v nunbes of vaoilis cupeskas Lo tha numbee
of thacalate cuptakes i the emd?

by How miny chacolste cupeakes did Yze Perg buy?
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11 PORSleapamighomm. PTRand STQ are stright Enes.
LSPT =40, ZPTO =425 and LSRO=T75"

.

(e} Find ZPCT.

) Find £ZTOR.
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(b}

3
13 In a fibrory, 45% of the books ate English books, ¢ of the remaiing

books am Chinesa books and tha rest oro Molay booka,  The @il’fcmnca)
batyaen the number of Chinass books ond Malay books is 176. How
mony English books aca thera i the librany?

2
Tofal / /J
JJQ’PA S ;;’A FEhsT R

£ bt

ThSy
cwﬁ -*1‘5'1») ~ % "?fiﬁj
5t
gu - 3u = !\-\
Iwzl1b
5- w= 11xC
z 85D
Lmi-in-j)
T
[ % —> Bpo7 &5
457, — BloisSil
= 720 (»3)
Ans: 7)'O 14




14 Thaoriginal prico of a washing machine wan $1380, Iskandar bougi
1 2l'a 30% discount during a sple.

{3) Hownuch did kskandur pay fortha vwashing maching?
(b} 1o paid S76,80 lora hardryer.  The Wotal discount for g washing
. fnachine and the hoir diyer was 346520, Exprass the discount for
the hair dryer as o peccentago of its orfainol price,
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6 In lhe figure delow, ADFGQ Iy 2 sfuer snd CDEF is a reclengle. BCE
and GFE ore stezight tinsa,  CF Is Bhrico a3 bong as BC.  Find the 2rea
of wiangte ACE,
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47 1ho bar greph belmy shows the Co-CuriRRuluen Aclvitles {CCA) 1y
sludents in Class 68 joned.  Every student o Cless 65 Joinad oniy one
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Onsknibol) Foboics At Ghoke  Chers &

{0} Each shudent i Ghoss C©CA pald $O to buy a Chess CCA bshit
Tha amourt of money colecled fom tha boye wes $18 more fse
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your answer kn the slmplcs! form.

b msatndmomnbuas'mmymcdmccamww'
number of skadents whn}nlnad Baskelball CCA. Robolics CCA and
Cholr CCAwas 4L 5. memﬂstmﬂoﬂmhumslmmermber
orsmmmpmedmmﬁcscca

] 18 ? Qrmt l"f' Hhoa "’L ia Chusg .
o te Lhess
10-pepth

o228
P24t 7 BiG
JO-43 6 boys Litpz 3% (o)
Ly pd : BHEHCh
)}:;, 2HRF® l!(,)'?t:»
otz 22
R#15-3-22)0 (dras 10 MW)_—

E’\(D ) End of Poper




